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Themes of excercises

1. Water flow in confined aquifers



Calculate q = ? (m2/s) with known hydraulic conductivity
K = 0.1 m/s. Hydraulic heads are defined as: HA = 100 m,
HB = 50 m. Aquifer base is B = 10 m and distance of
piezometers is L = 20 m.
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B ... aquifer base … [L]
q ... specific flow rate for 1 m of aquifer … [T2/L]
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General solution:
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Calculate q = ? (m2/s) with known hydraulic conductivity
K1 = 0.1 m/s and K2 = 0.2 m/s . Hydraulic heads are
defined as: HA = 100 m, HB = 50 m. Aquifer base is B = 10
m and distance of piezometers is L1 = 10 m and L2 = 20 m.
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- two different materials in aquifers



Calculate q = ? (m2/s) with known hydraulic conductivity
K1 = 0.1 m/s and K2 = 0.2 m/s . Hydraulic heads are
defined as: HA = 100 m, HB = 50 m. Aquifer base is B1 =
5 m, B2 = 10 m and distance of piezometers is L = 10 m.
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